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Deployment UML diagram

Exercise
 In the system of settlement of water used by water supply company "Healthy Water" infrastructure 
is as follows. Workstations (in the number 15) are connected to the server (Xeon 3400, 8GB RAM) 
through a local area network (Ethernet), while the readings of counters are transferred from portable 
computers (50 units) using GSM modems. On the server the following components are resided: 
BillingDB  providing  interfaces  IReading  and  IPayment  and  module  (library) 
ConsumptionSettlement using IPayment. On 5 workstations an application Settlements using both 
interfaces of BillingDB is installed, on the remaining workstations CostsSettlement using interface 
IPayment  is  installed.  Installed  on  portable  computers  the  program  Readings  uses  interface 
IReading. Provide a deployment diagram implementing the above scheme. 
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